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PART -1

Answer any three questions :

1.  The availability of natural resources can facilitate economic development. — Explain in
detail. 14
2. Differentiate between Renewable and Non-Renewable Resources. 14
3. Critically evaluate the CVM method for environmental pricing. 14
4.  Explain in detail Hedonic method of environmental valuation. 14
5. What is Bio-diversity ? Discuss in detail significance of Bio-diversity. 14
6.  Critically evaluate the role played by WTO in conservation of environment. 14
7. Explain the Kyato protocol in detail. 14
8. What is PIM ? Stating its objectives, discuss the constraints in its implementation. 14
PART - 11
9.  Answer any four questions : 8

(1) Give the meaning of Natural Resources.

(2) What do you mean by Biological Resources ?
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What do you mean by Common Property Resources ?
Explain in brief Social Forestry.

What is the importance of Environmental valuation ?
Explain briefly CITES.

Point out the benefits of Wetlands.

What are the effects of depletion in ozone layer ?




